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i Step 1

Change the subject of a formula,

@ If necessary, simplify the expression by

removing brackets.

(/'I'rnnl;pul;u all the terms involving the required
subject to one side while the others to the other

side, Simplify both sides.

@ Make the coefficient of the required subject to 1.

i Example ,i

Make v the subject of the formula 3x = 2(x + v).

(i) The signs of the terms containing 2ab are different for the two identities of

perfect squares. ) .
a + zab Y+ =a+ by
a + b= = by

b= 2ab

S

Ix=2x=-yv)

v =2p -2y

Loy I
2¥ =y = 3x = Wove the term containing
Iy = =y v 00 the lefi-hand side Solution s=2+5
s=5=2
§=3
— == —
Vo= = v

Levil )
m Consider the formula s = 2t + 5. Change the subject of the formula

- G. L__ Franspose the term 3.

- @ Dyivide borh sides by 2and move the o 1w the left-hand side.
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5. Consuder the formula = ;ﬁ" 32). where C (i "Cy and F Om °F) represent a temperatine in Celsins
scnle and Fahrenbeit scals respectively.
(@) Make Fibe subject of the fonmuala

(b) The tepmperature of o <ily 1s now 25°C. What 15 the temperature of the city in Fabrenleit scale?
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Example 1.14

Solurion

Practice 1.14

Mr Wong makes an investment of $3000. The retugns made i the
first and secopd months are <$2000 and 51000 resll:x
the amount he gets at the end of these two months.

[{+55000) + (~$20001)] + (+51000)
= (+$5000 — $2000) + $1000
= + 53000 + S 1000

tively. Find

Amount =

Al s angmally on the 17tk

{lesar phave e grotnd ||. pocd

chivwn 19 flooes and -goesup

3 flosors, Which: loor s it om

pony!

Amas the Esn Moor above the
Eund

The speed of a car is 60 km/h at the beginning. Its speed increases
by 15 km/h while travelling along a highway. Then its speed
decreases by 25 km/h as it travels through a tummel. What is the
speed of the car inside the wnnel? = kah

EE" Exercise 1.2 25 =28

E5° Exercise|

25, There are four judges in o talent contest. After a contestant has finished his performance, the scores that the judges

aive are =7 ks, 1 mark, +8 marks amd 0 marks. What is the total score of this contestant ™

B Example .14
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Laval T
m A newspaper estimates the number of votes for a candidate in an

election is 32 000, Assume the percentage error of the éstimate

is 3%, Is it possible that the number of votes for the candidate is

33 (H]IJ'.’lExpiai:n FOUr ANSWEL

Solution [t be the maximum absolute error.

ﬁi“ﬁﬁii x 100% = 3%
X = Y60
o The maximum absolute error is 960,
Upper limit = 32 000 + 960
= 32960
< 33000

2 is not possible that the number of votes for the candidate is
A3 00K,
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“28, ENN T n A8 BEFRCEA A $C 0]l LT R
c=32+ 2600

(@) PRSI AR $35.2 + SRSE LAY BIR] & -
v A s L) A e T 2
# o) BRUIE R A EOB BRI 1000 B - Ao MUY HR A L

(b) #4557 ) CO ] & 3000 850 4 4000

$0.8 « (o) GG 7 GERFRIRII AR -

29, SETFEE A OECAIE S AN B 0G0 JUR R E I $6000 FIHT &

s FHT SN 10% -

(@) aiESERE AR AR ST A E AR ss - B Rl s E#/m

A -

(by FTEESE A H A $9400 « B (a) @By 20a - RKukaZ H E %S

oo

fa821tis given that L and % are two algebraic fractions, where P and (J are

P

o

polynomials. Give two sets of P and @ such thal ;}; + == L.

P

+
OFEHRR
ARERMEE
BRNBLE 7
BEELEITE
Bo

OBEER

PUET S
BB -

OR¥E

RESLENZEMN
BEARAMEARI
NEERE -

B I I

# Angle between line and plane

Ini the above figure, line segments AN and AC me
plane 27 at B and O respectively, AC o normal ©
Then

(a}) € is the projection of A on T,

thy 2O is the projection of BA on 7.

{er the angle berween AR and s ZARC,

I T 2 TE AR i R e o SR G EE - E
(IR A - AT .

(PEES R

() Mo Mt e — i -

© sramn -

W e 2t e - - (3T 49— 1) -

2+ =Ty = (3 +9-x)
=+ e dr =T =3 =0+
=2k e A A -7-9
=3 - 2 —dx— 16
0

Prlogooad ol =
4 2+ 0 + 9

I ey

TERR - # 1 (e0x] DU ek -

I mane

o S

\

E 415

walst
A _\\\
oz Ty AR

5.
A
4]
Bmik 7
oy
Wi

28 Ty oy Folse

Dieermene whether each of the following i coenect. Puf a tick " i the box if if is comect and a cross "X G

1t 1§ nor.
O j—'l 15 i alpehelic fraction.

[l .\'#4— E 1 am algelmaic fraction

CJaderi.ie
K+ (] By
|: T

Eq atb - a _ clas k)
T a-b -~ @

A L}
I=1=-x"1=x
| | K. B s pen tai P = :"- HP=24=dandr=2 thenm= 4
F_ 9. ris the subgect of the fomumla v m &y - 1z

g W =G
[Tn0, Bris given mar v = 2LE Them = =
-1 vl
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A7 8, 3

B+ AGB ~ CHD 1 E 3. B9 AGB- CHD fl EGHF iR 5 - 85
EGHF {243 - 8 AR/ CD =
BY AR // CD »

#
ZBGH = 30° + 55° F
= §5°

ZCHE = §5°
© ZBGH= /CHE
. ABIICD IR

oBE=

20. Btk » BCD F1 AED R Hg -
() BHH—IHE{L=mEATE - SRR -
(b) Kx- 48

Lk
(28]

(c) SR RIS 4BCE BV TR \ABD AYEIFERY - B — D

| uh
™
=
~
"

{REEE 7 FARRRAYEE -

21. [Bth - 4BC H] ADE 3 5Tl
() BiH—HHEU=AENATE - ERIEER -
hy KxHly-

22, Tommy discovers a method to copy any given triangle. He draws a
triangle POR, which he claims to be a copy of tnangle ABC on the right,
through the following steps.

Step 2: Draw an are with {2 as the
centre and BE as the mdins to

Step 3: Draw an arc with B as the
centre and AC as the mdina to

Step L: Construct an angle < MON,
which is a copy of the angle

FARC. cut N at B, Produce QN if cul QM at P. Produce QM
HCCCIEATY. nocessary. Join P and B,
M M M
1)
%, y w 4] 3 N o b
He gives the following proof to justify his claim.

ZPOR = £ABC
OR=BC

PO = 4B

APOR = AABC | 545

Is his proof comect? Explain your answer.
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LB SRS e by bl ﬂ]E Are the following iriangle nmswhcmmmcnl‘.‘ IF thvey wre, give \ ﬁﬁﬁ#m
1B #11% g AN )

; : I P L2 I
o worss ivlamgles ARC aned PR, T E
Nasmemsiocibe: - d < e
then SABE PR /\\\A' : B+ AABE s APOR - xe g Rl 7 c .
[Heferonce; $AK] : ! i g 1 :

4 g 12 ¢ 1 g 1 1

P N L o - 12 ;

4 \{\ o / Yoo ADEF = AQRP (S8
T M R - Yes. ADEF w S\ORP (RHSL # E 5 F

A
2 0T g Yes. ADEF = AORP(855) It A
ot i Irkamgles ARC . PO, ; F - i s DI. Mo e . : || Acconding 1o the Ngures above, which of the: followiig is comoa?
i LCAN m ZEPG AN m PO ) Ch A ARE S A POR A, AACE = ADEFIAAA)
LANE = £ P then AANE & APQR. ] ] 2 r{—i‘ﬂ_ P o B, AACE = ADFE(S tids proponional)
[Refernce: ASA| A s ey . LR C. AACE = AEF (555
" = 9 ke D. AACB = ADFE(RHS)
OR =M T o
i - B
£R= i€ - o o
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24, The figure below shows ruler X and ruler ¥ with different scales.

PIIEAR RG] pmld b8 B8RS

Ruler X Ruler ¥

{a) Find the maximum absolute error of a measurement made by each of the above rulers.
(b} Patrick wants to find the thickness of a name card. Among the following methods. state which one is the
best.
Method 11 Measure the thickness of the name card by ruler X.
Method 2: Measure the thickness of the name card by ruler ¥.
Method 3: Measure the thickness of 100 pieces of the name cards by roler X and then divide the total
thickness by 100,
Method 4: Measure the thickness of 100 pieces of the name cards by ruler ¥ and then divide the total
thickness by 1010,
{c) Suppose Patrick chooses migthod 3 in (b) to find the thickness of a name card, The measured thickness of
100 pieces of the name cards is 3 em. Find the smallest possible value of the actual thickness of a name
card in mm.

' 7. [ o SR VG (R 0 0 OB » MM R S Al

HKDSE

25. The measured weight of a gold coin is 250 g, correct to the nearest 50 g,
{a) Find the range of the actual weight of the gold coin.
; (b} If four gold coins are measured together, is it possible thal the measured result is 1.08 kg? Explain your
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‘ 21. The expenditure 3£ on hiring a coach can be calculated by the formula E = %F) + 320, where D km is the

N distance travelled by the coach.
iit (a) Mr Wong uses the following method to find the expenditure approximately when the distance travelled by
the coach is known:
The value of E can be caleulated by adding the product of D and 3 to 300,
Write down a formula for the expendilre based on Mr Wong's method,

] 6 (a) W) Sa—M o BROEZ8ES—Bs - EhA-B-CcRI D B C - - -
Ews RELEIGIIL % - AC F1 AD KPER A« BE BB ‘ZL‘ (b} Find the value of £ for which both formulas give the same value of E.
" {11 15 2400 140° - A &
Tl 1 i ! i
I (i) Foa i ! - \
i+ (ii) R £ACD - .
- (by [ b BER AR £ EMER BC % F o8 ABEF L5 =M E ﬁﬂ*‘glﬁﬁ

Jie o+ Morp EF R = A P R - SR 2 BEF -

3. Fig. [ shows a rectangular playground A. A worker places a traffic cone on the boundary of playground A for

i lj
every 2.m. Fig. [T shows another rectangular playground 8, which 1s formed by x pleces of playground A. The
m
u A :” worker also places a traffic cone on the boundary of playground B for every 2 m. It is given that v is a positive
" ; . integer and x = 25
|
1 i 1
L1
mE -‘-
o 1
1] I
o o
1 B
= Kk
m HIN
| i
=l L it
HE e
= .
L] (
nm 45. [E PRt S — S R BEtE - BN R —RRIE - (EREHE R miEE E ALY
N
1" BAR SC Al Al C= fﬂiii%ﬂl Ko Playground A Playground #
L] i Fig. 1 Fig. Il
- @ % b AR - _ _ _
an (b) {EEREEERmE FENEARS96 Ea=6fh=4:Kb: s (a) Express the munber of ralfie cones on the boundary of playground B in terms of x,
'= 2 by The cost of placing a tralfic cone is 360 — x). Show that the otal cost of placing traffic cones on the
E= boundary of playground B is $(-2 + 1161 + 240,
HE
Nl
m
=T 2. The figure below is formed by nine wentical sguanes and a sguare is Tilled with

hlack colour ﬁ ’B + EE*"!! E+

16, B b B — AR T B E AR S VABCD » 23 VA LAR - VA L AD

VD LOD BC=8cm - CD=5em M VOC=[3om
.J_ (a) K VAR VDEE

Ui BRI AR =)
Ab) 2 VBC WL T 2 B R RAY
() By vie e vas £l

ih) Fill three squures with hlack colour such that the whaole figure has () SRR vareD RS

(a) Fill one sgquare with black colour such that the whole fizure has exactly

Iwo axes of syimmetry.

rotational symumetry, and state the order of rotational symmetry, (bR o Ol LY T i
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In the figure, AFE is a straight line. BE intersects FC at D, BE = BC and AE = FC.

EYAREE!

{a) Name a pair of congruent tnangles and give reasons.

(b} Is £ABF= LD.B‘C'.' Explain vour answer.
{c) If £ZABC= 155" and ~BFC = 607, find £ AFE.

Solutio

JBIOIM.? (N3E( ]".5'.!}
In the figure, AGE, CHD, EiC and FGHT are straight lines.
Prove that AR /) €I}, Which of the following proofs is incorrect?

A SBGH=1100 (vert. app. £5)
TSARBER ZCGB= ZCGH+ ZBGH
= 1407
LCGE+ £GCH= 180
' AB N CD (imt. &5 xupp.)
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18.
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employees are married, then the percentage of mamied employees in the company is
A, 3B%.

B, 42%.
C. 58%.
D, 62%.

In a company, 40% of the employees are female. If 50% of the male employees and 70% of the female

DSEEE!
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Graded Worksheels
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1. @ MBN B—{iEE8 - ZCBM = 105°H] ZABN = 105° «
(a) 5 ZABM =
(b) 7HEH ABC It —EHE -

ORI

SRIBEANRS  =RE—BE LR URS LY MR

I8
P}
i&lﬂ

3. Inthe figure, AE and BD intersect at C. ZABC = £ DEC and £CBE = £CEB. Prove that AC = DC.
{3 marks)

A n

Infegratied Test
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11, Which of the following diagram représents ¢ < -3
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0 Basic Mathematics
1 Directed Numbers and the Number Line
2 Introduction to Algebra
3 Linear Equations in One Unknown
4 Introduction to Geometry

LA 1B 5 Numerical Estimation

Hpheyes At ( 6 Areas and Volumes ()

0 ERE ® E]i.,%; : 7 Manipulations of Polynomials

1 BOEREE 9 ¥HRKE®R

2 RBEN 10 AEEAN pool b

3 T — IR 2 11 2ZRMEMU 8 Percentages (I)

4 BaEsA 12 BEESMHEN A 9 Symmetry and Transformation
10 Introduction to Coordinates

Y Fj. 25 = AL

5 %Q{E.'f ;— 13 /an-i—%;ﬁi:éybu-i_.%:zﬁ% 11 Congruence and Slmllarlty

6 MEMNMERE(—) _ LN 12 Angles Related to Straight Lines

7 ZIERWEY K 13 Introduction to Statistics and Statistical Diagrams

- fBook 2A

/ 1 Rate and Ratio
2N FHJI 2B FHJI 2 |dentities
3 Factorization of Polynomials
1 XL 8 H="AERZEF 4  Algebraic Fractions and Formulas
i N 5 Linear Equations in Two Unknowns
2 BESR AHEIH 6 Approximation, Measurement and Errors
3 ZIEAMERD#HF 9 ERTHEHEMIPEY 7 More about Statistical Diagrams
4 ﬁ%{ DR EE AT 10 JEREEM (—)
Book 2B
5 T—RERE 11 ZABFE[N
6 - BEEEEIeE 12 =AHEE 8 Angles Related to Triangles and Polygons
428 4 " _ 9 Pythagoras' Theorem and Irrational Numbers
7 WGETER 13 EHEAER (=) 10 Deductive Geometry (I)
11 Introduction to Trigonometry
12 Trigonometric Relations
13 Areas and Volumes (II)

U

R 4

ﬁ}ook OA

DA 5B
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